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(1) RBRBEKETE R VR R FRAKE

e
AERE fEAK .
EX% 2 e = B K 7k K & + HEk s e
E5 BALm | B JER R ek | #sesok | ek | sk | ek | sk | ek | stk | sammson | sk | ek | @ sesok | ek | sk sk
I % FAEQ) 798 O - - - - 6.38 - - 13 /58
R-1 - 3.20 3.20 3.20 3.20 3.20 3.20 3.20 -
I % FiAHE(2) 1100 O - - - - 9.40 - - 1[8]/58
At I % 2E&(X) 4.00 O 400 4.00 4.00 4.00 4.00 4.00 4.00 ST K
I% EEERA 5.25 @) 5.25 5.25 5.25 5.25 5.25 5.25 5.25 SEE K
I% FAEQ) 1029 O 8.44 1E/58
R-8 - 3.70 3.70 3.70 3.70 3.70 3.70 3.70 -
I% F8¥E (2) 11721 O 9.87 1E/58
I% aR= 250 O 2.10 1@/:8
R-10 — 0.80 0.80 0.80 0.80 0.80 0.80 0.80 -
I% =Y 250 O 2.10 1E/58
I & RixRA 2 200 O 1.65 1mE/58
R-12 — 0.70 0.70 0.70 0.70 0.70 0.70 0.70 .
I% XA & 235 O 2.00 1E1/:8
INEE 59.59 1345 | 840 | 925 | 840 | 2756 | 840 | 1290 | 8.40 | 2503 | 840 | 9.25 | 840 | 9.25 | 8.40
AR IK BRIAREHEK (B m 13.45 9.25 27.56 12.90 25.03 9.25 9.25
HKERWERE [[BREEK RRIE B (BAL:m) 8.40 8.40 8.40 8.40 8.40 8.40 8.40
BRETAIE (B m) 1.8 18
INET 8.40 8.40 10.20 8.40 10.20 8.40 8.40
X1 WK, BEKEFALET,
2 ERBIMIBEEHEEK 0225m/min X 8min = 1.8m/H
N = R s = 7}(5& T_/ q_jl:l_% . 5@*%@% X 3%)
B ata & B 3 3
@ BREKE BHHKERERE oo se /B« ( 5959 x 003 ) = 293 mi/H

@ #HBKE

wmskamaxe XK

102 m/H




(2) EHEXKERUV EKFERKE

BE2S
BERE fEAK .
EXT % - H B X 7k A & + HEK e
&= B m Bk |tk | sk | e Hek | sk | A HEK | K | A HEK | K | A HEK | K | A HEK | 3 sk | A HEK | 3 K
I & SRR 0.30 O 0.03 0.03 2[81/58
I & B 2.75 O 2.48 2.48 2[E] /58
R2 | ol 1.10 1.10 B8
I % EEi% 1.60 O 1.33 1.33 2[@] /58
I & Bi5 2.20 @) 1.93 1.93 2[@] /5@
1% BEE 3.19 @) 2.69 2.69 2.69 3[@/iE
R | el 1.00 1.00 1.00 B8
0% BERS 2.75 @) 2.25 2.25 2.25 3[@/E
1% 7 2.15 @) 1.80 1E]/58
R4 L KRS 0.70 0.70 0.70 E1/8
IS KEF 1.76 O 1.41 181/
I & N—2i% 1.75 O 1.40 1.40 2[a]/;&
I % -5 3.70 @) 3.35 3.35 2[81/58
I % .~ 1.23 @) 0.88 0.88 2[@)/:8
Ro [k EE 2.10 210 [22/H
I N—7>2iz 1.50 O 1.15 1.15 2[8]/;8
I -5 3.00 @) 2.65 2.65 2[a1/58
I Bi% 1.23 @) 0.88 0.88 2[8]/:8
I % K RE 1.75 @) 1.45 1E/58
Ry LR [RERE 0.60 0.60 B8
I% mE A 1.65 O 1.35 1[E/:8
I% R 0.30 @) 0.28 0.28 1[E]/58
1A pral i 2.75 O 248 2.48 1[8]/5&
R-9 * Fﬂ = 1.10 1.10 1.10 1.10 1.10 1.10 1.10 Bl L
I% 25 1.60 @) 1.33 1.33 1E/58
I% Ei5 1.80 @) 1.53 1.53 1E3]/58
R-11 |I% BES-Tovio— 1.55 O 1.25 | 0.30 1.25 | 0.30 1.25 | 0.30 |3[E/5&
INEE 40.51 1069 | 390 | 840 | 1.70 | 6.19 | 240 [1031 [ 390 | 7.02 | 3.10 [13.75 [ 280 [11.56 | 3.50
. _ |EK EIKAEBEK (B m) 10.69 8.40 6.19 10.31 7.02 13.75 11.56
HKBERUERE — =
K E K LEKiEE#E (A m) X 3.90 1.70 2.40 3.90 3.10 2.80 3.50
X1 WHEKIE, AEKEFIALET, 5 "
. = . .= £ER —N\—J0—E:/AEEE X3%)
o = BrE H E s .
@ BREKE S KERSKIE 13.75 ni/A + ( 4051 x 003 ) = 150 m/H
© BHHOKE  gngkEEEcE  EH

3.10 m/H




